EARAROBEEIERT — 2 N— IBISH —F

2014558308 (&) 6EIEME3A

m C2— ¥5%4m®t (xwlw | lmEmml - |5 @) o 8
[AE£] 1% :250,000 ™ ~ 2%&:45,000”  37%&:22,500 W  43%&:12,500 53 :7,500 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
B4 | REBE 1:32.1 4-4-4-3 | 40.1| — 2 445 | REHEIE (FEk)
1111 &= 55.0 = -2 KRN
RbIHATAF— BxT /T L]
Y S B i 5 | AHiE 1:32.2 1-1-1-1 | 40.8 | — 3 446 | BREELE (EH)
olglg|7>¥E—EYa— 54.0 (7€) (13) | LAFETT
L:FEY RY2127 BT 8—LAX Jmil ER
it 5 | KEAER 1:32.5 10-10-10-7 | 39.5 | — 5 447 | BRI (FElH)
N s BEESTIZ] ] 5 O i
RO—TRA A B4V /32— EvilLy RTr—L
S 4 5 | JIRE— 1:32.6 2-2-2-2 | 41.0| — 4 440 |=xEZ (EH)
40| 8| LFA A EX= 54.0 (172) (g | ) Tr—xhEVa
Z:707x% B:Ya—-bkFEY R ElliEs e
. wEFR :32. ~8-8~ . — OB (k)
5 o | HERURZ it 5 s 1(33/24)8 8-8-8-8 | 40.3 7 ;1_413; Py
AZ:va7x B alF4a7 =Y Tr7—LA
S o= = TERE :32. —6-5— X - KR (FiH)
6155 HATF4>F54 b H o4 ne 1(73%:5)) 6-6-5-6 | 40.5 8 (4_910) AT
R:T7LE8RTF4vIT74 8 B:IXF F—L— - w8 T7—LBERE
o N Heh% : ~7-6- - AR (EHA
7 4 EIFAIINT K # o4 56.0_7_ 1('33/32{)0 65 | 406 1 ;‘_327) AE®R=
LFA—TANT N B:TTT—2hA TE %A
N L EAfEnE . o o _ BARE (EA)
38|10 #7v 2 #75 o | g Py | e el - | | EaES
R:T7oBXT149 974 8 BRI aIIlE— #H B
- s A 12 | KRUEE 1:33.4 9-9-9-10 | 40.6 | — 10 499 | EMEUA (FERR)
EH 3 Z2A/A% 24— - 56.0 (2 1/2) (-2) EF‘WEE%E
R:ARLHE A F—T BHLFIR =
. AR :33. ~5-7~ . — XBEE (BMA
10077 LR 4 4 5?5.0 (/:\3%1 5-5-7-9 | 41.1 6 (5+011) s
R:24—YLHO—X B:ATHT— HEFHRF—T I
® 1—F—@EBIERL
1T=7r= 9,8,10,1,7,5,4,2,3,6
2a=5F= 9,8,10,1,7,5,4,2,3,6
30—4— 9,8,10,1,5,4,7,2,3,6
40—F— 9,8,1,10,4,5,6,2,7,3
[ N5
B 1 220M 714K 1-9 920M e E 1-8 1,540 JEE 1-6-9 8,090M
B B 1 1509 1-6 550M B = 1-9 3,000 EE 1-9-6 24,840
9 280M 6-9 1,920H B H 1-9 3,970H
6 290M

ABICOVWTRDTEEERROODE. TR LIV,




